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Answer all the bit questions of a particular question
serially at one place to ensure effective evaluation.
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. - Group - A
@ — Jaua
All questions are compulsory.
eSS dg QRGNS 26T |

1. Choose and write the correct answer of the
following : T2 10=10
FORTICYLea A0 Qa9 QIS B CRG !

(a) When two reactants, A and B are mixed to
give products C and D, the reaction quotient,
Q at the initial stages of the reaction :

A @ B Qat goeeg faimer, C 8 D aQegse
a@aIda | gégaia gan aiaieea 9éal
Qiage, Q :
(i) iszero
& g9
(i) decreases with time
A AL @FeIg
(iti) is independent of time
A1 QUEQ FE0 R6Q QIF
(iv) increases with time
AR AT @@ald
(b) For the process, H,O(l) (1 bar, 273K) —
H-O(g) (1 bar, 373 K), the correct set of
~ thermodynamic parameters is :
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(c)

(d)

H0(1) (1 bar, 273K) — H,O(g) (1bar, 373 K)
geal aiel A0R 6AIRIRERAR QIIFcR 639 :
(i) AG=0, AS = +ve

(i) AG=0, AS=-ve

(ii) AG=+ve, AS=0

(iv) AG=-ve, AS=+ve

Uranium (A = 238, z = 92) emits an a-particle.
The product has mass number (A) and
atomic number (z), respectively, are :
QEIRan (A =238, z = 92) 1@ 2Rgl odql Ade
GRIDER YIRS 9% QoG B ARl Sele QoI
Lellgeel -

(i) 238and 92

(i) 234 and 90

(i) 238 and 90

(iv) 236and90 |

The solubility of Ca(OH), is s mol L™". The
Kep under the same conditions is :

Ca(OH),@ Q9451 s 671Im 99 FeQ 2i6e | QoY
ULRIEE ILIQ QIS AT 6RD :

(i) 4s®

(i) 3s*

(iii) 4s?

(iv) s°
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(e)

()

(9)

Aspirin is :
2988 9@
(i) Sedative
6RO QIR Glax
(i) Antipyretic
FARIER
(iii) Anti-biotic
Q1§ ]I
(iv) Antiseptic
2186qdeR
Which amino acid has phenolic ~OH group
as its backbone ?
cwe 2IFeql 1dasa sT6RIR] —OH g MIgeaIq
g arg ?
(i) Glycine
qIede
(i) Leucine
Eade
(iii) Serine
€Q0R
(iv) Tyrosine
gIREeQUAq
One of the following is a cross-linked
polymer :
QeI AU 691G BRI A°EAIT 9g9R ¢
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(i)

(ii)
(i)
(iv)
(h)

Bakelite

EQERRINAG!

Glycogen

QRERNERA,

Nylon

QRN

Polythene

afeR

XeF, and XeF are expected to be :
XeF, 6 XeF, oY !

(i) oxidising (i) reducing

=i} STl o)
(iii) unreactive (iv) strongly basic
goqal A/A Qg |

AAGAR 6 F16Q QRN |
Which kinds of isomerism are exhibited by
octahedral Co(NH,), Br,Cl ?
zaceqia Co(NH,), Br,Cl se@ geiq
‘aieaQal’ sadinelg ?
_4i) Geometrical and ionization
RUTER 6 29MARAE
(i) Geometrical and optical
UIFER B 2NN IBIF AAAIA
(ili) Optical and ionization
2RI RIS ARMEG 8 2GIRE
(iv) Geometrical only
FoR 699F
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() Benzylchloride can be prepared from
toluene by reacting with :

SR FERIB ALe JORU F6 6QRERION ERIARNE
6RR2N :
&) HCl
(i) SOLCI,
(iii) SOCI,
(iv) NaOCI
2. (A) Answer the following questions:  1x5=5
FORTIe 999IERa Qe @8 :
(a) Esterification does not take place

between ethyl alcohol and excess
H,SO, at 170°C. Explain.

QAR ZINETIBM YG° 2SR TIAQIE, ARIIER
170°C @QI96Q QaaF6qas 29 9@ |

Qi |

(b) Identify A and B in the following
reaction :
6919 9oaaiea A 9o Bg 08¢ Qa :

(i) CO, [B]
(i) H,O/H" ~

(c) Write the unit of cell constant.

GHBBr Mgﬂ" ether : }[A]

618 TR 9ae emd |
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(d)

(e)

What happens when nitrobenzene
reacts with conc. HNO; in the presence
of conc. H,80, ?

FIREGIEARTE Qe J9RIF] QUIeR QI
RIPGR 2l e goqal @ @8 a%e ?
Write the IUPAC name of the following
compound : _

ceqie cAlIdea IUPAC Q61 6ad :

CH, - (ISH —CHO
OCH,

(B) Fill in the blanks : 1x5=5
GRS o8 A9 :

(a)

(D)

(c)

For the gaseous reaction, aA+bB &=
cC+dD, An is equal to
9@ eyia1a ga§al, aA+bB =cC+dD

R AnQ gy <92 QA9 |
The thermal stability of the hydrides of
Group 16 down the group.

gd 169 2I9gine AIREa ¢1ge fI8g 999

eRg aem |
Phenol on oxidation with air gives

6TRR QI 980 FI06 626R

SLmarg |
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(c)

(d) If the activation energy of a reaction is
low, the reaction is relatively
6QITN JRR9IQ dqQuel 9@ @ fem, 698
Joaee geaIne aees |

(e) Concentrated hydrogen fluoride exists
in the molecular formula of :
QIR YACLIETR EFVNE 2R

A*EQTER 21 |
Group - B
8 — SQusl
Answer any ten questions : 2x10=20

6JERIEIE 26T 999 QaIR @2 :

(a) What is the equilibrium constant expression
for the reaction ?

Q6919 goRAIQ AIFNIQY! YIS FRIAR @'a ?
Pa(s) + 505(g) == P4O040(s)

(b) The concentration of hydrogen ion in a
sample of soft drinks is 3.8 x10° M. What
is its pH ?

@ 9 A 9gRIER ANEFIEHR IR UGS
3.8 x 10 M 626 9219 pH 6966 629 ?

Calculate the entropy change involved in the
conversion of one mole of water at 373K to
vapour at the same temperature. (Latent heat
of vaporisation of water at this temperature,

AHygp = 2257 kJg™).
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(d)

(€)

9@ 6915 aF 373K aI96a SYIgER e 6aQ16Q
2398 IREGIT 608 9€Rl @R 1AH,5p = 2.257
kdg™)

Complete the following reaction and write the
names of A and B.

feqI8 goaag aqd «a 8 A we° Ba Q9
68 | :

—=—A]

NaOH . A Br,/KOH B

(9)

(h)

i D} NH
Using EAN rule predict the molecular formula
of nickel carbonyl.

EAN Ggq QI921Q 96 F6aa QI6SRaa 2Ieq
A6 Yo QYU |

How is benzoic acid converted to benzalde-
hyde ?

6IREFIAR AUF, FAQ 6IRFINFLARGER VTGN

RIS ?

equation.

EQRERINR AR @' ? AAIRAE @ |
Identify A and B in the following reaction :
FeqI8 goqelsca A 6 Bg 9% :

CeHs—CHy— CHBr—CH, —2IGKOH 5 HBr

What is Benzoin condensation ? Give

A
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(i) What are pesticides ? What are difterent

types of pesticides ? Name one of each type.

QioaEe Gy @@ ? A R gQ '8 ?
gecuag 601t QIR eS|

What is Stephen's reduction reaction ? Give
equation.

R6aas IRI0E 9ol @' ? AMeAE @ |

How does copper metal react with ammonia ?
Give the reaction with the product formed.

Rl QO 26AIRel 94 gJoqal 6o ? 990 AR
QL6 ANIRQd G |

State Le-Chatelier's principle and explain the
effect of temperature on the synthesis

of NHs.

A-0leeRzIas Gu¢ Q8RS 99 | 2I6AIReI 9866

QRIS gaIe gl |

4. Answer any three questions : Ix3=9
ca6alad GR6AIT g9 Qe G

(a)

If one mole of water and one mole of CO are

~ takenin a 10 litre vessel and heated to 986°C,

40% of water reacts with CO as in

H,0 (/) + CO(g) = H,(g) + CO, (g).
Calculate the equilibrium constant for the
reaction at the temperature mentioned.
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(b)

4@ 10 Qee 6Qemea 4@ 6FliIR fw 8 99 671Im
CO faiem 9o 986°C aeIgea Ser aausial |
sasiam, 40 goae o CO 920 feqIs goal
aa goael efl | 940 aeI9sa Joaaia QIS
YIS 21 @A |

How are the solvents classified on the basis

of proton transfer ?

69197 FIRI20q TR @6 @dQ GIRedq 654199
cRInEs ?

(c) A compound ‘A" having molecular formula

C,H.O,N on reaction with Sn and conc. HCI
gives a compound. B which when treated with
NaNO, and dil HCI gave compound C having
molecular formula C,H,O. The compound C
when treated with Na metal gives efferves-
cence and when reacts with CrO5 gives a
saturated aldehyde having 2 carbon atoms.
Determine the structures and names of A, B

and C along with the sequence of reaction.
2isiae a°6ae C,H,O,N agl 1@ sdlde A o6 6
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JIe LINCLIEYANEG 2F) AEe oLl 9 4l
B & ai2ig NaNO, 8 Qg 2IR6QI6]/0R 24, qeQ
20918 FaIRER 2iske aere C,H.O c8ia salda
C ¢ex | 6dl0e CQ 6Qieaa g 996 Qa9
RAUNCR 999Q AINIAEA UV TGS 6IRAN Ie°
6d15e@ Cq CrO; 99e QdoIa @QURER IR AR
Jefllg Q99 9@ e UINGRRR RN | AR
Q8@ 929 A, B 8 Ca 2°a9al 8 @ifl Qeqs!
X |

(d) Give one method of preparation of XeF;.

Mention one reaction in which it acts as an

oxidising agent. Give its structure.

XeF, 9369 @ 980 6Rdl | 69Q geaaIea el
% SI08 969 AN F6Q, KBRS /A | ILIA AT

goIe Q9 |

(e) Derive the Nernst equation of electrode
potential at 25°C for the electrode reaction,

MM (aq) + ne = M(s).

M™(aq)+ne = M(s) @ 6@Q ggaua 25°Cea

0G0 da9 FA] ANIRAE A AR |
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Group -C
ol — Iaua
Answer all questions.
Qf8 g9a a9 @2 |
5. Discuss the principles of extraction of copper from

its sulphide ores. How does it react with dil and
conc. HNO; 7 Give reactions. 5+2=7

ANTIRG Mg TEg GA TIIAFA FANAF 2RISR K |
42l 30Q Ag 6 SIP AINER A7 986 gORDI 96Q 7
goR0l 6Rs |

Or/ @ar

Describe the Dennis method of preparation of
fluorene with a neat diagram. How does it react
with glass ? | 3+2+2=7

6609 0aG6Q 6RRa J96 agnl @ | 9 28 09 G |
2 QI6 920 @AQ gOg9l 969 7

6. (a) Predictthe nature of the aqueous solutions
of the following substances. 3

" QA8 9RIIGERa RR1a 9290 J9T Asne @9 |
() NaCN (i) Na,CO, (i) CH,COONH,
(iv) Na,SO, (v) FeCl, and (vi) CuCl,
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(b)

In a first order reaction, the reactant
concentration decreases from 0.8M to

.0.4M in 15 min. What is the time taken for

the concentration to change from 0.1M to
0.025M ? 4
@ QAN 9F goqaiea 15 fteea goniana AIe!
0.8Mq 0.4Mgq «far | aigel 0.1Mg 0.025M
JRReR IR 6060 AFD AT |

Or/ &ay

Write notes on : 3%+3%=7
G 6S

(@)

(b)

To =ha)

(b)

Faraday's second law of electrolysis
TIRELE 6RQIoR ICFANR QO FOE
Nuclear fission

ORI YUINR .

How do you prepare benzoic acid from
(i) n-propyl benzene, (ii) Phenyicyanide and
(i) Benzene ? 3
(i) n-propyl benzene, (ii) Phenylcyanide 6
(i) Benzeneq @uQ 62q681QK 2F) 926 @09 ?
What is Schmidt reaction ? Write the
structure of the product of this reaction. 2
Q2 goQal 9’4 ? a8 goRaa Q99 Q99!
Qe |
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(c)

(@)

(b)

Explain Carbylamine reaction. 2
QIRIAARIER goqal eI |
Or/ &ai
Bring out the following conversions :
13x3=4

feqIegeea Jheae 991 :

(i) Benzene to m-dichlorobenzene
£RRGA] 6AGI-BINER EACLRTRE

(i) Nitrobenzene to Benzamide
FIRECIERTRYG 6ANTIANAGER

(iii) Benzene to n-Butane

6QRERG IR YECRED
What are soap and detergents ? How do they
differ ? 1+12=21
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